EARAROBEEIERT — 2 N— IBISH —F

201468118 (k) 7TEZHE2H

M- C12# C12 5%k ‘ (%] 2 ‘ (rsm]  — | & (h) 14000 B
[AE£] 1% :135,000” ~ 2#&:25000M”  33#%&:10,000 M  4%&:6,00H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N Sea e FIE— :31. 74~ . — FRHER (BEHE)
i 6l X1vamyAx o4 A 1(3_1)2 7-7-4-2 | 39.3 4 (4_635) s EmaR
R:Tv AT bLyh— BXXAR)yYa BINT 7 — L
olglg|zvEtrTPa7 S i P R et I B Bl =gl
L:ALT7AT7 B:¥rFrOvF BEH Fi
. B 4 | BlEHL 1:32.7 1-1-1-3 | 41.6| — 3 436 | NERRSER (S£H2)
sl1l1 | H—nrES 54.0 o o | ) E-2rT
A hk—L B:¥y N ES R HiE
P 4 4 | NARED 1:32.9 3-4-5-4 |41.0| — 5 437 Woh— (BEE)
417171 7>7TRA A51.0 @ @y | A A=2457
R:TIy k-9 BixLTLIE—F e
5 o| Ty v T8 — Ho7 lgﬁi@ 1:(343).8 2-2-2-5 |42.3| — | 7 go) i%{é;ﬁ&)
L:xrindao— BTV ERVTF% HFREANIS
= INUETT :34. —5-7— . — HWEOE (BHE)
o5 5| vrn7r07 4| RE Hggo | weTe Jael = | 1| e |2EER
R:7VF%tx% B:NMLICTLZR HET77—L
- NN RFRAARR : ~5-6- — Tikah— (BHE)
2 A | VTSR Y it 4 b= 1(.13/42.; 6-5-6-7 | 42.0 8 ;1_125) *@ L ENE
LEL/INY R BiXxvyFIL-—X BK AR
8 3| rATAKRT b 4 5 gg%ﬂﬁ (;i(i_;)) 8-8-8-8 |44.3| — 6 469 mgﬁé: (BEB)
RiTH L GNEry b B A TANO—F )| 4 g
@ 1—F—@&BIEf
13=7r= 1,2,7,8,5,4,6,3
Aol=5r= 1,(2,8),7,(4,5),6,3
G§a=7r= 1,2,8,6,7,4,5,3
43—+ — 8,6,1,7,2,5,4,3
[ RN
B OB 6 960H 714K 6-8 270M B E 6-8 820M &R 1-6-8 1,740H
% B 6 280M 1-6 550 | | & & 6-8 1,540/ | | 3&E 6-8-1 10,140
8 150/ 1-8 300M
1 190M9

ABICOVWTRDTEEERROODE. TR LIV,




